These instructions are intended for the following part numbers:

[NSTA LLATION GUIDE 2660-13010, 2660-13012, 2660-13018

2009 Audi A4 3.2L Thank you for purchasing the AWE S-FLO Intake.

2010-2016 Audi S4 3.0T Exquisite build quality with industry leading performance
2008-2010 Audi A5 Coupe 3.2L distinguishes this intake kit from all others.
2008-2012 Audi S5 Coupe 4.2L
2013-2017 Audi S5 Coupe 3.0T
2010-2017 Audi S5 Cabriolet 3.0T

Installation questions?
S-FLO Intake CONTACT US

Copyright 2018, AWE. No part of this document may be reused or duplicated without the express permission of AWE/Secor Ltd. All rights reserved. Rev1.6


https://www.awe-tuning.com/contact-us/

o PARTSLST

A‘ INSPECT ALL PARTS PRIOR TO DISASSEMBLY OF VEHICLE; IF DAMAGED OR MISSING,
PLEASE CONTACT THE PLACE OF PURCHASE IMMEDIATELY.

S-FLO Intake Parts: Required Tools:
1 AWE S-FLO air filter (GF4101) Flat tip screwdriver
1 AWE silicone intake hose (B8 INT_HOSE) 13mm wrench

1 AWE fuel line bracket (cars up to 2012) T15, T25 Torx

1 AWE EVARP line bracket (all cars) Wire cutters

1 M8 washer (93475A270) 3mm hex key

1 8mm nut (91828A410)

2 M4 hex socket bolt (91292A122)

2 Panel mount cable ties (6686K21)

1 70-90 hose clamp (W053917090)

1 90-110 hose clamp (W0539190110)

1 Crimp clamp (W0541155)

1 CARB EO ldentification Tag

B8_INT_HOSE EVAP line bracket

l : 6686K21
T —
i—

GF4101 Fuel line bracket

77 / f ;'
/] / (W0539190110)
| 93475A270 © 91828A410

- - (
& \\

(W053917090) (91292A122)

Copyright 2018, AWE. No part of this document may be reused or duplicated without the express permission of AWE/Secor Ltd. All rights reserved. Rev1.6 2



Open the hood.

Disconnect the breather hose (located near the throttle
body) from the factory intake hose.

Unclip both rubber lines from the factory intake hose, shown
by the arrows in Figures 2-1 & 2-2.

Using a flat tip screwdriver, loosen the hose clamps holding the factory intake hose in place.
Remove the factory intake hose.

3/ PU0%N
3 Proak Sbg
AL

\ Y,
( <>
N T | %

ol N : }i I‘
FIGURE 3-1 ‘ | FIGURE 3-2

[)

Copyright 2018, AWE. No part of this document may be reused or duplicated without the express permission of AWE/Secor Ltd. All rights reserved. Rev1.6



Using a T25 Torx bit remove the air box lid and filter
assembly.

Release the two metal clips holding the plastic hose collar
to the lid.

Use a T15 Torx bit, remove the two screws securing the air
filter element to the lid.

Remove and discard the large rubber o-ring beneath the air
filter element.

Install the AWE S-FLO Filter into the air box lid by lining up
the rubber bosses on the filter with the openings in the air
box lid.

Use the supplied M4 bolts to secure the filter to the lid.

Copyright 2018, AWE. No part of this document may be reused or duplicated without the express permission of AWE/Secor Ltd. All rights reserved. Rev1.6

s
T
R Letasnnres
DEE T 53
S
B
PIERR:
FIGURE 6-1

é

FIGURE 6-2




Reinstall the plastic hose collar.
Reinstall the lid and filter assembly back in the car.
For 2014 model year cars, please skip to Step 7.

For cars up to 2013 model year:

Install one of the included cable ties into the smaller of two
holes on the EVAP line bracket as shown in Figure 8.

Install the EVAP hose bracket on the existing passenger
strut tower stud with the supplied M8 nut and washer.
Secure the hose (at arrow in Figure 9) with the cable tie
and trim as necessary.

For 2013+ S4/S5, after installing this part, please skip to
Step 12.

For cars up to 2012 model year:

Install one of the included cable ties on the fuel line bracket,
as shown at arrow in Figure 10.

FIGURE 10

Copyright 2018, AWE. No part of this document may be reused or duplicated without the express permission of AWE/Secor Ltd. All rights reserved. Rev1.6



For cars up to 2012 model year:

Install the fuel line bracket under the air box lid bolt as
shown in Figure 11. Secure the fuel line with the cable tie
and trim as necessary.

Y 252k
Ly N

FIGURE 11 |

Y,

s »
AV o

For all model year cars:

Install the AWE silicone intake hose using the included
hose clamps. Reinstall the factory breather hose on the
plastic hose barb near the throttle body, as shown by the
arrow in Figure 12.

REMINDER: Place the included CARB EO sticker in
ﬁ a clean, visible location. A good location would be in
A front of the intake, on the upper radiator cover.

Installation is complete!

Copyright 2018, AWE. No part of this document may be reused or duplicated without the express permission of AWE/Secor Ltd. All rights reserved. Rev1.6 6



_

This is a re-usable air filter that can be cleaned when dirty and put back into service.

Please inspect the air filter element every 25,000 miles for integrity. Clean every 50,000 miles under
normal operating conditions, sooner in dusty conditions.

Contact AWE to purchase a filter maintenance kit.

AWE

199 Precision Drive
Any questions or comments, Horsham, PA 19044
please do not hesitate to contact us: 215-658-1670

CONTACT FORM

WARRANTY

Up-to-date warranty information is found HERE.

Copyright 2018, AWE. No part of this document may be reused or duplicated without the express permission of AWE/Secor Ltd. All rights reserved. Rev1.6 7


https://www.awe-tuning.com/warranty/
https://www.awe-tuning.com/contact-us/

